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Mixed Interest Problems

Show all work to answer each question. Be sure to write out the formula and how you plug the numbers into the

formula.

Erika invested $3,600 at 3.95% annual interest
compounded annually for 5 years. Her sister Amelia
invested $3,200 at 5.7% annual interest

2. Javier is comparing bank savings plans. The table

below shows two savings options.

account accrues simple interest at a rate of 3.5%.
Jamal will leave the money in the account  g.0%,
untouched for 30 months. ¢ = 2.5 L»{(S

a. What will Jamal’s earningg be?
T=p-0% o
£ = us00 T = ygar- 0.005:2.5
Lo [E-83TAS

b. What will be the total amount in Jamal’s
account at the end of the 30 months?

T = P+ T
Ttal = 4500+ 293176
@aﬂ -$4893.7%

compounded annually for 5 years. What is the Option A Option B
difference in their earnings? Interest 3.6% 3%
Wyeregy Rate | D02 | 0.03%
A) $147.37 Interest Simple Compound
$4222.06 Type
$252.63 .t
D) $4369.43 Javier has $4§5 to invest for 3.5 years. Which
) option will earn him the most money?
Evrikoo-Compand | Amelia, - Campand
i~ -~ e A) Option A because he will earpy $5,355.
P= 3600 P =» 3200 B) Option B because he will earp $471.32.
r= 19 57,, = 0.0398 r= &7 ‘7, ~0.087 @ Option A because he will earn $7.23 more than
=65 uv . - Option B.
t A JC = 5 b L D) Option B because he will earp $417.77 more
P\-— Q(\*r)t P - {7 ( H.r} ¢ than Option A.
YN TI{EY. ms) = 3500( 1¢0.087) Ogt. A Opt. B
-.$4’5(4_qg, \ Re$4aaa.06 3~:§é 0.0%-2.5 2 :3(; 10 NS
X _ ) « U35-0.00p- 3, (14 0-
. = H3GT.42-BeD] {ny, = 1432300 30 -‘,]i -$1.465 - q-;kkbg.,
int. = §76A.43% \nd. = €092 0lp R \ny.= AP
3 &
Pmelia- Tricke 358 \nt. = 471394 5
092 86 -4 - YB3 Int. = $4(,. 32
o) 41.23° e
3. Jamalis investing 94,500 into a savings account. The | 4. Carrie is taking out a $2,200 loan. The interest for

the loan will be compounded annually at a rate of
2%, Carrie will carry the loan for 18
20.623. How much interest will the loan accrue?

Iny. = ﬁ"‘?
\nt. = Q%0623 - 4200

b. How much will Carrie have to pay back in
total at the end of the 18 months?
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5. Gina deposits $150 SRS into 2 | 6. Randee invested $1000 for college in an account
college savings account that pays 4% 4% S|mple earning 5% 5|mp!e interest. When she WIthdrew
interest at the end of each year. She does no't the mveTr_nent she had earned a total of $55
deposit the interest she earns each year. How interest. How long was the money invested?
much total interest will Gina earn on her deposits How much interest goes the first account earn in
through the end of the fifth year? 10 years? ! sk
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7. Andreas invested $1000 in a savings account. 8. Lester deposited $400 into a savings account
After 4 years, the account had earned a total of earning 4.5 4 5% 5|m le interest, and $450 into an
5112 simple interest without any additional investment accourtt e earning 3.2% int r'g
deposits. What was his interest_r_g_gg_? compounded annually. What was the total
r interest he earned in 3 years?
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9. Huan deposited 5_85() into a college savings account earning 4. 8% mteresl_ggnlp_aun.d_edjnn.ually He also
deposited $850 into a second account earnmg_4 8% SI .Ie,.m.te[g,i *He made no additional deposits.
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b. How much interest does the second account earn in 10 years?
LT=¢-rt ’l‘:jfoo p.0M¥ -0
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a. How much interest does the first account earn in 10 years?
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'cb After 10 years, which account earned more interest? How much more? 60‘ 4yl

Account | ((‘,ompaW) oarned moe intecart., -qoogoa
W oeared 8108141 more in infert. guos-al




